


%U°�k�Uu-¨ژw�¾U�-°
UȄژɋǚƷژȲȵȏƩƷȽȽژȏǑژɋǚƷژȲȵƷȲƌȵƌɋǠȏȄژȏǑژɋǚǠȽژȂƌȄɓƌǹًژɬƷژǚƌɫƷژȽȏɓǒǚɋژɋȏژȂƌǵƷژɋǚƷژ
ƩȏȄɋƷȄɋژƩȏȵȵƷƩɋژƌȄưژƩȏȂȲǹƷɋƷِژOȏɬƷɫƷȵًژɋǚƷȵƷژǠȽژȄȏژǒɓƌȵƌȄɋƷƷژɋǚƌɋژɋǚƷȵƷژƌȵƷژȄȏژ
ƷȵȵȏȵȽژȏȵژȏȂǠȽȽǠȏȄȽژǠȄژɋǚƷژȂƌȄɓƌǹِ

ÞÞƷژȵƷȽƷȵɫƷژɋǚƷژȵǠǒǚɋژɋȏژƩǚƌȄǒƷژȽȲƷƩǠǑǠƩƌɋǠȏȄȽژȏǑژɋǚƷژȲȵȏưɓƩɋȽژȂƷȄɋǠȏȄƷưژǠȄژɋǚǠȽژ
ȂƌȄɓƌǹژƌɋژƌȄɲژɋǠȂƷژɬǠɋǚȏɓɋژȲȵǠȏȵژưƷƩǹƌȵƌɋǠȏȄِژwȏژȲƌȵɋژȏǑژɋǚǠȽژȂƌȄɓƌǹژȽǚƌǹǹژƨƷژ
ȵƷȲȵȏưɓƩƷưًژɋȵƌȄȽȂǠɋɋƷưًژɋȵƌȄȽƩȵǠƨƷưژȏȵژȽɋȏȵƷưژǠȄژƌژȽƷƌȵƩǚƌƨǹƷژȽɲȽɋƷȂژȏȵژ
ɋȵƌȄȽǹƌɋƷưژǠȄɋȏژƌȄɲژȏɋǚƷȵژǹƌȄǒɓƌǒƷȽژɬǠɋǚȏɓɋژɋǚƷژɬȵǠɋɋƷȄژƌɓɋǚȏȵǠɼƌɋǠȏȄژȏǑژȏɓȵژ
ƩȏȂȲƌȄɲِژ¾ǚƷژƩȏȂȲƌȄɲژǠȽژȄȏɋژȵƷȽȲȏȄȽǠƨǹƷژǑȏȵژɋǚƷژǹȏȽȽژƩƌɓȽƷưژƨɲژȄȏȄٮȽɋƌȄưƌȵưژ
ȏȵژɬȵȏȄǒژȏȲƷȵƌɋǠȏȄِ

Þ�¨¨�w¾äژ�k�Å°-°

%ƌȂ%ƌȂƌǒƷژƩƌɓȽƷưژƨɲژǑƌǠǹɓȵƷژɋȏژǑȏǹǹȏɬژɋǚƷژǠȄȽɋȵɓƩɋǠȏȄȽًژǚɓȂƌȄژǑƌƩɋȏȵȽًژǑȏȵƩƷژ
ȂƌǱƷɓȵƷًژƷɋƩِژǠȽژȄȏɋژƩȏɫƷȵƷưژƨɲژɬƌȵȵƌȄɋɲِ
uƌǠȄɋƷȄƌȄƩƷژƩȏȽɋژɬǠǹǹژƨƷژƩǚƌȵǒƷưژǑȏȵژȲȵȏưɓƩɋژȏɓɋژȏǑژɬƌȵȵƌȄɋɲِ
äȏɓژƩƌȄژȵƷǒǠȽɋƷȵژǑȏȵژɲȏɓȵژǑȵƷƷژɬƌȵȵƌȄɋɲژȏȄژɬɬɬِUGU�ِƩȏȂِ

�ɓȽɋȏȂƷȵژ°ƷȵɫǠƩƷژ¥ǚȏȄƷההה׎ٮבדהٮה׏דژي
-ȂƌǠǹژي°ƌǹƷȽِUǒǠƌwäۮǒȂƌǠǹِƩȏȂِژ
UȄưǠɫǠưɓƌǹژȵƷȽɓǹɋȽژȂƌɲژɫƌȵɲِژ¾ǚǠȽژȲȵȏưɓƩɋژǚƌȽژȄȏɋژƨƷƷȄژƷɫƌǹɓƌɋƷưژƨɲژɋǚƷژF%�ِ
¾¾ǚƷژȲȵȏưɓƩɋژƩȏǹȏȵژȏȵژƌȲȲƷƌȵƌȄƩƷژȂƌɲژɫƌȵɲِ
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